Installation Guide
L& AA

175132

Clamps 3£ £,

Upper bracket
S BR A

Installation Tools 2% T. E.

18 mm combination wrench(2PCS)
16 mm combination wrench(2PCS)
8 mm combination wrench(2PCS)

PR

Step 1: Assemble the bracket
F—L: HEZHE

Step 2: Install the bracket
FTH: REZR

Lower bracket

FCRAL

Inclinometer fi§i f1X

Issue:02

M314-5% B (Attachment list)

% Frname Y= code e

Quantity
K
Length holder 175108A01 1

FAE

Short holder 175108A02 1

Fi

holder 12520905 4

R

Joint part 12520903 2

S

. 17S108A05 4
Support pipe

KR

Length pillar 175132A01 1

SR

Short pillar 17S5132A02

—_

FBERR

Angle plate 17S108A06

—_

IZ}:Bolt GB/T5783 M12 X180

IZ}:Bolt GB/T5783 M10X 110

IZ}:Bolt GB/T5783 M10X 25

1244 Bolt GB/T5783 M5 X35

IZRENut GB/T6170 M12

12HENut GB/T6170 M10

12HENut GB/T6170 M5

SF-#4 8| Flat washer GB/T97.1 12

3 % $4 8 Spring washer GB/T93 12

SF- 48| Flat washer GB/T97.1 10

5B Spring washer GB/T93 10

N|[ow|o|h|[A|IN|[|(N|A[A~]|D

SF- 448 Flat washer GB/T97.1 5

N

%48 Spring washer GB/T93 5

Appearance of the actual antenna may differ from|
the pictures. —— i LASEI M ifE.

Follow the directions shown in the picture to install brackets.

EEASE NS I3 N -2 U

Follow the directions shown
in the picture to install
brackets.

AL v A o N
TR RHEEIRE.




Installation Guide
Z 41t

Step 3: Install the antenna
F=H: REXRL

-

o = IN

Pole diameter
BHER
® 50~d110

175132

Issue:01

Tighten all the
nuts before lifting
the antenna onto
the tower. Ensure
the bracket is fully
folded.

R ORI S
BAE0° eI
Install the Antenna on the pole as shown in the figure. IBURPT IR
The same installation method applies to both upper and lower
brackets.
T TR 3 RGN I, S50 S 4R 23 07 AR A
Check and tighten all the nuts when the installation is complete.
The operating torques are given in the following figures.
ZHENE, EREIHT R ERE.
The recommended
WS 5
M5=4 N'-m; M10=35 N'm; M12=62 N'm
"1l
- guil
Step 4: Adjust the mechanical downtilt angle
FEME: TR TR
( = o N
T Method 1
g Precise reference Mounting plate
ic% ) j}%mﬁ et distance Down tilt angle
cale OoT bracke 5 N e
] (the actual scale 783 e U T
i prevails) L(mm)
S i%&%ﬂfs—?ﬁ (;l&i
SHRE R S 1200+5 0-18°
( ke \
. N Method 2 160015 0-12°
J7i%2
-
Precise measurement After the adjustment is complete, tighten all
S B the n},lts. o . ;
Before adjustment, adjust the ﬁjrgl}ﬁg’}ﬂ&)ﬁ’ PRI IR .
inclinometer to the desired downtilt Only qualified personnel are allowed to install
angle. After adjustment, locate the bead the antirl':'a'__ N -
in the middle of the inclinometer. RERH 22 B e 2B N SR AE -
VHTHT, KA G B BT R 10T R
L PG, U AR KR AT




